### 2026 Booklist



# Rainworth State School Year 5

#### List A

		Sp	ecified	Order	
Product	Price	Qty	Amount	Qty	Your calc
Visual Art Diary A4	\$6.47	1	\$6.47		
Exercise Book A4 48 Pg (with margin)	\$0.96	10	\$9.60		
Botany Book A4 96 Pg Plain/8mm Ruled +Red Margin	\$1.79	2	\$3.58		
GRAPH Book A4 10mm 48Pg	\$1.14	4	\$4.56		
Display Book A4 40 Pocket Fixed Insert Cover BLACK (Jasart Academy)	\$5.20	1	\$5.20		
Marbig Polypick F/C Document Wallet Assorted	\$1.68	3	\$5.04		
Coloured Pencils Micador Basics 12's	\$2.95	1	\$2.95		
Highlighter Wallet of 4 (Orange Yellow Pink Green)	\$3.80	1	\$3.80		
Glue Stick Osmer 40g	\$1.90	4	\$7.60		
Faber-Castell Connector Pen Colour Markers Assorted Pk of 12	\$5.58	1	\$5.58		
A4 Magnetic MDF Whiteboard Double Sided Plain with Frame	\$8.36	1	\$8.36		
Faber-Castell Connector Whiteboard Marker Assorted Pk of 6	\$13.40	1	\$13.40		
Paint Palette 12 Bright Watercolours with Brush Micador	\$6.30	1	\$6.30		
Pencil HB Staedtler Raw Box of 12	\$4.62	2	\$9.24		
Artline Supreme Fine Liner Pen 0.4mm Black	\$2.00	1	\$2.00		
Pen Ballpoint Medium Red	\$0.29	2	\$0.58		
Marker Sharpie Permanent Fine Black (1.0mm)	\$2.54	1	\$2.54		
Ruler Plastic School 30cm Clear	\$0.62	1	\$0.62		
Microfibre Cloth Cleverpatch	\$0.98	1	\$0.98		
Faber-Castell Single Hole Sharpener with Catch Assorted Colours	\$1.08	1	\$1.08		
Faber-Castell Dust-Free Eraser White Large With Sleeve	\$0.75	4	\$3.00		
Celco Maths Set #909	\$4.23	1	\$4.23		
	Total		\$106.71		

#### List B

Only order List B items if you do not have them from a previous year.

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Pencil Case Tartan 340 x 170mm	\$3.02	2	\$6.04		
Chair Bag Nylon Multifit BLUE	\$11.90	1	\$11.90		
Clipboard Folder A4 PVC Assorted	\$4.29	1	\$4.29		
Calculator Sharp EL233 Pocket Plastic 8 Digit	\$8.80	1	\$8.80		
Scissors 155mm Blue Handle Osmer Right Handed OR	\$2.26	2	\$4.52		
Scissors 158mm Green Handle Osmer Left Handed	\$2.53	2	\$5.06		
Headphones Soundstorm Inline Mic & Storage Case (3.5mm Jack)	\$21.95	1	\$21.95		
	Total		\$62.56		

Please name all items, covering of books is optional.

Spelling Mastery Workbook Levels A-F (level to be determined by school testing). The school will bulk

## purchase this item. Families will be invoiced in Term 1 for this resource.

Above prices include GST and are for pre-pack orders. Prices may vary in the retail store. A Tax Invoice will be included with your order.

#### **BOOK PACK INFORMATION**



This list of essential requirements for the school year has been carefully prepared by the teachers at your School with specific items & brands listed.

#### ORDERING ONLINE & DELIVERY is the PREFERRED method.

We strongly recommend you order EARLY in case of any service delays out of our control. Despite our best efforts, product replacements may be unavoidable due to supply issues.

AVOID BACK	C-TO-SCHOOL STRESS and ORDER by midnight 30 DECEMBER - It's easy!
	ORDER ON-LINE 24/7 www.schoolstuff.com.au Click "Order Booklists" and follow the prompts. Your list is pre-loaded for easy ordering.
@ <u>C</u>	ORDER BY PHONE Mon-Fri 9am-5pm and our friendly staff will process your order over the phone and assist with any enquiries. (Closed Fridays in low season Feb to Oct)
<b>5</b>	<b>DELIVERY</b> Order all siblings on the same order for \$11 delivery with Couriers Please. See website for courier information to ensure safe delivery to HOME or WORK. Express packing and delivery may also be available.
i i	CLICK & COLLECT from 83 Proprietary St Tingalpa. You will receive a TEXT message when your order is ready. You must wait for this message to collect. In peak times (December/ January) please be aware it is usually several days wait.
	<b>RETAIL STORE</b> at 83 Proprietary St Tingalpa. Our staff will pick and pack your order while you wait. Check our website or call us on 3391 7000 for opening hours. (Closed Fridays in low season Feb to Oct)
30	ORDER BY THIS DATE for GUARANTEED packing prior to school return  Due to the huge volume of orders received by this date, your order may take approx.  2 weeks. We appreciate your patience during this time. A priority service may be available - check website for details.
<u>(i)</u>	<b>BULK DELIVERIES &amp; PRE-ORDER PRODUCTS</b> These are to be ordered online or by phone prior to 30 December to ensure timely delivery to your school.
	MISSED the GUARANTEED order date? See our website, Facebook page or phone us for available OPTIONS.
7	GOING ON HOLIDAYS?  Contact us for options before you go to minimise Back to School stress when you return.
365 DAYS	LATE ENROLMENT DURING THE SCHOOL YEAR?  We can fill your Booklist all year round. Order online or visit us in store.

**SHOP ADDRESS:** 83 Proprietary St Tingalpa Qld 4173

**Phone:** 3391 7000

Email:enquiries@schoolstuff.com.auWebsite:www.schoolstuff.com.auFacebook:SchoolstuffAustralia